12412

EXERAMEALOIE ZEERBOT—IBIZIE. EELHILELOZE—DREFTY—0F 5L,
godoobobobobobobbboboboooooaod

(OO0) OoOooDO0O00O0O0O0O00O00O00O0O0O0O0O0O0O0O00O000O0

250 200

A-1 DDDDDDDDDDDDDDDDDDDDDDDE gbobooboooboboooboooboooobooboon

0000000000 DO000O00DOD0O0b0 a000O00DOOOOOObLOODODDODOOOOObLOOODDODOO aOODOO

00 [ A |0DDO0DODODAa000000 [ B |00DODODODOOOD [ ¢ |OoDODO

A W N P

A B C

godg aoo ood
oon ooog ood
goog goog god
goog ugod god

g
O
U
g

A-2 000000O0OO0OO0O0OOO0OO0OODOOOCGCUGOUU GUUDOODUOOOeOVOODODUDODODODODDODUDOOOO GO0
1g0uy 000000000000 0U000UO00ODO0U0O00DD GUOOODODLOODUOOODLOOODULOOUOOOOo
gobooboboooooooon

g b W DN -

oooo
30 FO
30y FO
60y FO
60 p FO
60y FO

Gooo
60 u CO
180 p cO
60 u CO
180 p CO
360 p CO

60 vO =

1
A
!

:C3

A-3 DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDI:l ubobobobooboobboobooonbooo
gbobobobobobobobobobobobo

(1) 00 RO0 R OODODDOO VrxOO Ve OOUOOODODDODOOOOOOO

Vex = Vx [ A | O Vee = Vx | B |

(2) Vrx = VyeOOOOOOOO RxkO0OOO0OO0OOODOOOOO
Rx=

A B C

1 R/(Rs + RY) Re/(Ra + Ro) Rs Re/Ra

2 R«/(Rs + Ry) Rce/(Ra + Ro) Ra Re/Rc

3 Re/(Rs + Rx) Ra/(Ra + Ro) Rs Rc/Ra

4 Reg/(Rs + Rx) RaZ(Ra + Rc) Ra Re/Rc

A-4 OO0O0ODOOOOOODOOOOOOOOOOOOOODOOOoObOOOobObOo0bOOoOobDbOoobOoOoDbOoOobOoOonDoDo
OO0 LOOOOoOooo CUOoOoOoooOoUooooo

g b~ W DN -

gboooboboobooobboobooon
oOooo L0 lcO00000000o0UO
00000000000 n/20rad000O0O0
0000 l0lc000000N/20rad0 0000
O0ooIL0lcO0000O0000Oooo

A

*

e Y

- C

§R

%

®

.

ECOODOOO
lDoooooon
hOooDooooooo
lcO00000O00O0O0ooo
ROODO

(12412-1)



A-5 0O000bO0OOODOOODOOODODOODOOODODODODODODLODODOODODODODOODODODO

godg

gooooooooon
OO00oDoO@obooOoooogono)
gboooaoo

ooooooooon

g b~ W DN

A-6 DDDDDDDDDDDDDI]DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDI:l goooo
oboobobobobobobobobobo

0000000000000000000000000000000000000000 A B
0000000000000 0000000000000000000000000000 1 000 NPN
000 [ A |0000000000000 [ B |OoOOOO 2 00O PNP
3 0000  PNP
4 0000  NPN

A-17 DDDDDI]DDDDDDDDDDDDDDDDDDDDDDDDDDDD gbobdoboooooouabuobobobo
goooogo

00000 [ A |000000000000[ B |00000000000000000000000000000000
0000000 [ ¢ |00000000000000000

A B c —
1 NPN oono 00
2 NPN ooo 00 DD@
3 NPN oooo 00 R 0o
4 PNP ooo 00 TTO0O00000
5 PNP oooo 00 —| 1 ROOO

A-8 DDDDDDSSB(JBE)DDDDDDDDDDDDDDDDDDDI:l ooooooooooooooooooooood
oon

(1) booboooobooboboooDboo DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
ooooognog

(2 ODOoOoooOoooboOosssOOOOOoOoDbOOobO0OO0DOOODOObOOOODOODbDOOODOODO DDDD
ogoogoooooboooboooooooobobooooo n/20000000000ODOOOOOODOOOOOODOOD
goooooooooooooooooooogonog

000
A B o O o
ooo1
1 00O00oog 000000 (BPF) —=
2 0Oo0Oooo 00000000 (BEF) —
0 O B SSBO
3 DOooooo 000000 (BPF) /2
4 000000 00000000 (BEF) ggd
/2 O 0O
000 ooo 2

(124120 2)



A-9 DDDDDDDDDD(PLL)DDDDDDDDDDDDDDDDDDDDDDDDDD gboooooooooooooo

0000

(LPF)
1 0O0Oooog

0 0 oooo .
2 000000 0000 ™ Too
3 0000 *
4 0OO0O0OO0

0ooo O O

5 0OO0O00 ooo > [ ] = 0ooQ

A-10 AMASR)UOOOODOOOOOOODOOOOOObO oW ODODOooDOOooobOOooDOoOb ey O ODOODOOOO
(Ap)bbooooobbooooooboobobouoboobooboono

1 1000wo 2 1180 w0 3 1360 wOo 4 1600 WO 5 2200 WO

A-11 OUOO0OOOODOMREB) DO OOO0OO0O0ODOODOOODOOODOOOOOODOODOOODOOODOODOOOD
000000000000000000000 ff0OO0OD0OO000000 200000000 Koo 30oOoOoooooo f;0
oon

oooooooo fL,oOo 000000000 (BPF)
000000 fpb0ODODDODOO (BEF)

oooooo fpb00000f, 0000000000 (LPF)
000000 0000000 (LPF)

000000 LO0ODODOOOOODO(HPF)

goog

MO OO [

OO
OO
[
OO
OO

g b W DN -

A-12 J0O0OO0OO0ODOOODOOSSsBE3B)OOOOoOooOoooooooboOoooooooOooobDOoobbOOoobDooDbboOobooboOoo

ood
good

y

\ oooo
god goo S0 0adn S S [[l

god goo ooo Hbd

N N

OO
OO
OO

100l JOo0ooooon O200
ggd (0O RIT) ogoo

1 DoobOogooboobooboboobooobooboooobooboon

2 JOopooooo@oeRMMoobOl1ooooooooooOoobbooboOoobOOoUoDLDbOoOobOOoUDOoOobbOOobOon
gbooboooooo

3 000OOO000O00DOoO0bOOO00DOOoU0DOOOO0OO00OOObODOObO@GPRHOODOOOODODOODOOODODOODOOD

4 0200000000000000D0 40kHizODO0O00O0OODO0OODOOO

5 0b00ooooooooooooosssbopoo2000ooooooboobooboooboobooobo

A-13 DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDI:l gboobooooooooooooog
obooooobooboon

A B C
gboboboboboobobobobobobobobobo 1 000D ooooo ooooo
gboooobooboobboobonoo DDDDDDD 2 0000 god googn
gboogan DDDDDDDDDDDDDDDDDDDDDD 3 0000 gbooan ugbooaoog
obooooooooommoog DDDDDDDDDDDD 4 OO0 oo ooooooo
gbooooboobooboboobooo 5 000 googn googn

(124120 3)



A-14 DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDI:l gbooboooboobooboobobo
gboobobobobo

A B C
(1) bDOoooboooobooobobooobDomoobOooboobooooDo DDEI 1 000 oono oon
() DO0OOOO00ODOOoOOOO0ODOOoOobObOODoOoo EJI:ID 2 OO0 goo gogd
() ODOoOoooooo DDDDDDDDDDDDDDDDDDDDDD 3 000 goo god
ooooog 4 000 oono oon
5 000 goo gogd

A-15 DOO0OSsSOwHzODDOODOODOODODOODODOODODOODOOoDbOOOOObOObOObOOobOObOOobOobOOoOOODOD 3Oo%y
oood
1 2.90m0O 2 3.50m0 3 4.40m0O

4 5.80m0 5 7.30m0

A-16 J0O0OO0OODOO@EHOODDOOODOOODOOODOOOOOOODOODODOOOOOUODDDODOOOOODOO

goooooooboooooooobogooobooooooooboooooooooooobooooooooooon
OO00DOoOOooOoWuRO s oooooobogoog@Gkonoooo
goooooooowueooooobboobobo0ouobooobboOooooo
ooobooooommuRuobogooooobog
go0oooooogoumooooooo0ooboooboodoooooObogoooooDooooOooo

g B~ W N P

A-17 0000D000O0D0OO000DO0O0DO0000D0000000000000000000000000[ o000
000000000000000000000000000000 [ |00000000000000000

gobodbooooobbooboobbooboobobooooooboooobobobooboobboobooobobooon
vbobobooooboooooooobooooooooobooboboooooboooboooooobobobobOobobOobo
gbooboooboooboobon

ooo 00000000 00000000 0000
0 Vv/mO 0 A/mO 0 mW/cm’d 000
3WHz O 30MHz 824/ f 2.18/ f
30MHz O  300MHz 27.5 0.0728 0.2 6
300MHz O 1.5GHz 1.585,/f Jf 7237.8 £/1500
1.56Hz O 300GHz 61.4 0.163 1

fO000OMHzD

gobodbooobooboooboobboobooboboobuoobooobooboo DDDDDDDD
gbbooobogbooboobod

PG
S=40R2><KDmW/Cm2D P:O000000O0OWO R: 000000O0O@OUOUOOoooo)omo
s

G:00000000000000@O0 K:Ooooooood
000000 SO0DO0O0 EOvwmOOODOOOODO0O0O0O00000000000 A B
1 00000 E
S= “ /37700 mW/cm’0
- 2 00000 E?
3 0000 E
4 0000 =

(12412-4)



A-18 DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD ooooooooooooog
oboooooooooog

gboboobooboooboooobobobobobo A B C
goboobognbog DDDDDDDDDDD 1 00 gboogooobon gooboobogn
gobodgbboogbooo DDDDDDDDDD 2 00 ubobooooan ugboogboon
gbobobobobooboooboooooo D[ID 3 00 obooooooon ooooogog
gooogooo 4 00O gooooobon gooooobogn

A-19 DDDDDDDDDDDDDDDDDDDDDDDDDDI:l gboogbobooobuooboobobuooboobboan

() D00D0D00000000000 [ A 00000000000 A B

() 000000000 r0QO000000000000000NOOOOO 0o r/(N - 1)
0000000000000 RIQOOOR=[ B jpQOoonO 0o r/(N + 1)

oo r/(N - 1)

0o r/(N + 1)

E- NGO I

A-20 DOO0OOO0OOOOOOOOOOOOOOOO0OO0OOO0OO0O0O0OO0OO0OOO0O0ObObO0ObOODOOOObObOODbDODODbOO0
gbobobooooboobooboobobobobobobboboboboboboboo

00 os oooo |y 000 || ooo [ N
= oooo 0 J0nn = 0000 0000
0000 000
N [
O O Hobt 0000

gbogbooboooboobboobuoobboobooboooboooDooo
gbboobboobooabboobuoobbooboobbod
goooooooboobooboobooboboobobobooboobooboobonbon

0000000 TOsOOO NOOODOOOOOOOOOOOOooooooooo NTOHzOOOOO

A W N P

B-1 000000000000000000000000[ |000000000000000000000000000
[ |ooooooooooooooood

() DO0D0D0OD0D0OD0D0D0D0D0 [ 0 |00000000000100010¢00 [ 0 |00o0ooO
0000000 10A000000000000000000000 [ 0 0000
() 0000000 2000000 VOVOODOOOOOODO00 I0AD0D000000RIQONDOONOV =R O

0 1=V/RODODOODOOOOOOOO0OO0OD [ O |0D0DODO0ODODO0ODRIQOO | O |00O00O0O0ORD
Do Gosoo [ 0 |oooo

1 00000 2 00 3 00 4 O0O0O0O0OO0OO0O 5 00
6 000 7 000 8§ OO 9 J0oOooooDod 10 0000000

(124120 5)



B-2 00000O0OU0ODODOOUOOUDDA=10B=0000000000 XOOOOOOOOOOOUOOoOoOoooOoooooOoo
oboi1boooooboob 200b00b00b0O

0 0 0 0 0
A A A A—]
A —>0—X B >—X B >T>0—X QJZD_X a| T>o-x
X=0 X=1 X=0 X=1 X=0

B-3 DDI]DDDDDDDDDDDDDDDDDDDDDDDDDDDDI:I goboobooboobbooboon

() 0000000O00000[ 0 |000D000000000000000000000

(2 0000000000000000000000000000 [ 0 |00000000000

(3 000000000[ 0 |0000000000000000000

(4 0D0D0DD0D0D0DO0D0D0O0O0D000000000000 [ 0 |oooooooooooo [0 |0

googn
2 0 3 0od 4 OO0 5 OgoOoo
7 0 8§ 040 9 OO0 10 0DDOO0

B-4 OO00O0OOO0OOOOOOOOOODOOODOOODOOODOOODODOOOODOOOODOO IDOODOOObODOO 200000
ooo

gboooboobooboobobooooooboobobobobobooooonoonoo
gobobooobooobooobooobooooooobooobooobboo
gobboogoBpeuuoog

ogoboooooooooooooobooobobbooooooooooboboobobobO@wooo)y oooo
goooooooooooooooooOoOoOooooooooAabOODbDDODOOA/MOODO0OOoooooooboDD

OoOoood

B-5 00000000000000000000O00O0OOO[  |0000000000000000000

() D00D0D000D0000000000000 [ 0 |o0ooooo[ 0 |000000000000ono

() 000000000000000000000000000000000000000 EOVOIOOO0000 r0QO000
000000000 2000000000000000000000 ab0000000 [ O fivaooooo [ 0 oo
DO00O0(@)OO00000D0ooooo [ o |o

1 0000 2 E/2 3 r1/2 4 10 5 20000
6 0000 7 2E 8 2r 9 60 10 10000000000

(124120 6)



